Why does the Earth wobble?

The robation of the Earth uUpon 1Es axis has prodvicd au
c“,qa,torial bulgc, aud has cavsed the FLartuh to take the shq

of au oblate sphecoid, rather thaun a sphere . This oblatcucss

i€ d‘f"‘“‘l : oblatencss I cq,vs'éon'd l'nln'u—-rol., readiv;

C‘va.kon'd radivs

For the l:-o.rfk, oblatencss 2 6378 39 km — 635691 kin
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Attraction of the Sun (or the Moon) vpon the oOblate Garth. The attract
(acc«lcubhu) Y, X aud 2 arc indicated as Showa.

Since one-half of the bvige of the Earth (s closcr & tie St
thaw the other, Y is larger then X, @nd 2 is Smaller €hasn X
T the lower Adiagram, the accclecations aec refeerred €0 €he cewd
0f the Ear th.

The two Ve maining accdera.h'cu:, (Y-X> and (2-;()J av
resolved <cach into two Componcunts. The Componcuts, § aud
frem a Con»lc Whichk €Eecuds +o0 rotate tue €Eartun,

The acceleration X, resvlting From Ehe free of attract
of the Sun vpou the spherc, lics in  the plauc of the eclipt
the accelerations (Y, 2),) resviting from the fovces of atbrac
veon the Ewe ‘Vlstr’ QAcfe $ll'j‘\-‘:l1 inclined to Ehe ecliptic.







